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*Learn Fill in the blanks, True/False and Matching on 03.11.2020.
1. Write meaning of the following words:

a) Handkerchief- napkin
b) Frightened - scared

¢) Chase - follow

d) Explain - describe

e) Trouble - problems

f) Groan - sob

g) Pavement - footpath
h) Bullock — bull or ox

2. Make sentence by using following words:

a) Handkerchief- I use handkerchief in my tiffin time.

b) Frightened — | am not frightened of the dark.

¢) Chase — Some people chased Belal.

d) Explain — He explained why he came late.

e) Trouble — We should help people in their trouble.

f) Groan — My friend was groaning with pain while playing.
g) Pavement — We should walk on the pavement.

h) Bullock — Bullock can pull carts.

3. Answer each question in one sentence:




a) Where did Belal come to after running?
Ans. Belal came to a fruit stall after running.
b) What did his mother tell him not to get into?
Ans. His mother told him not to get into trouble.
¢) What did Belal tell his uncle to make sure of?
Ans. Belal told his uncle to write his mother a letter.
d) What did he see when he was walking beside the lake?
Ans. He saw an old man groaning with pain.
e) How did the old man hurt his leg?

Ans. He fell out of his cart and hit his leg on the pavement.

4. Fill in the gaps using suitable words:
a) Belal waved goodbye, as the train (pull/pulled) out of the station.

Ans. pulled
b) Hewas  (stay/staying) with his uncle Sabbir.
Ans. staying
c) 'l'will, I will' he said, ashe __ (leave/left) for the office.
Ans. left
d) Theold manwas __ (sit/sitting) near a lamp post and groaning with
pain.
Ans. sitting
e) One of his bullocks tore itsropeand __ (run/ran) off.

Ans. ran

. Find out whether the statements are true or false:
a) Belal was relaxed.

Ans. False
b) The crowd missed Belal and the bullock.
Ans. False




¢) The police man was angry.
Ans. True

d) Uncle Sabbir had not written to his mother yet.
Ans. False

e) The fruit-seller was nowhere to be seen.
Ans. True

6. Matching:

Column (A) Column (B)
a) Belal was staying with 1) down the road.
b) The old man was i) his uncle Sabbir.
c) Belal ran off i) sitting near a lamp post.
d) It was a stall iv) the bullock.
e) There was V) on wheels.

Ans,

(a+ ii)= Belal was staying with his uncle Sabbir.
(b+ iii)= The old man was sitting near a lamp post.
(c+ i)= Belal ran off down the road.

( d+ v)= It was a stall on wheels.

(e+ iv)= There was the bullock.




